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SECTIONB
Answer ALL questions. Write your answers in the spaces provided.
Thali hocolate factory. iz
alia owns a chocolate factory. \:‘:95\\
The workers in the factory work 7 hours per day. g%
They produce 65 boxes of chocolate per hour. o
e \
Thalia gets an order for 9100 boxes of chocolates. 2
o
' ) <%
Work out the number of days needed to produce 9100 boxes of chocolates. 5
(3) :
B
\_ J
(Total for Question 1 is 3 marks)
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2 Thalia has 6 machines to produce chocolate in her factory.
Each machine produces the same amount of chocolate.

It takes 3% hours for these 6 machines to produce enough chocolate to fill a crate with
chocolate bars.

On Tuesday only 4 of the machines are working.

-
Work out the number of hours the 4 machines will take to produce the

chocolate needed to fill a crate with chocolate bars.

(3)

(Total for Question 2 is 3 marks)
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The scatter diagram shows information about the outside temperature and the

number of gas units used to heat a house on each of ten days during January. s SREE
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The range of the number of gas units used to heat this house each day during
October was 11 gas units per day.

Jenson thinks the number of gas units used to heat this house each day is more
consistent in October than in the ten days in January.

% \///<\//<\ //<\ //\\

4 N
(@) Is Jenson correct?

Show why you think this.
(3)

g J

Jenson also thinks there is no relationship between the outside temperature and the
number of gas units used to heat this house in these ten days in January.

4 N\
(b) Is Jenson correct?

Give a reason for your answer.
(1)

(Total for Question 3 is 4 marks)
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s 4 Kady runs a household waste centre.
s : Rubbish collected at the centre is either sent for recycling or sent to landfill.
e
o The table shows information about the weight of each type of rubbish sent for
. : recycling last month.
T
: ; Rubbish type Weight (tonnes)
: E Garden waste 224.56
: °§‘ Wood and cardboard 101.81
: '5 Metal 37
2
: 8 Glass, soil and rubble 138.9
35 Electrical 16.54
Sos Other 82.45
: : The total weight of rubbish collected at the centre last month was 653.64 tonnes.
/,3/::' ( ~N
/\stu ' What percentage of all the rubbish collected last month was sent for recycling?
e Give your answer correct to the nearest whole number.
; (3)
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S5 (Total for Question 4 is 3 marks)
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5 Natalie will plant flower bulbs on a road roundabout.
The roundabout is in the shape of a circle with diameter 14 m.
Natalie will plant the flower bulbs in a circle 75 cm from the edge of the roundabout.
The dashed line in the sketch below shows where the flower bulbs will be planted.
A
14m
v
Natalie will plant a flower bulb every 25 cm starting from point S.
The flower bulbs are sold in packs.
Each pack has 16 flower bulbs.
-
How many packs of flower bulbs will Natalie need?
(5)
-
\

P 6 8 4 7 4 A 0 6 2 0

VAUV SIHL NI 349 10N 04

KK

SRR

totebe

vEvsWINASMIONGS

| vawsmusmiovod

SRR
KRRXK

R




19592999,

XK KK
K
Boorattort
KRAHRHLRAIKS
CREKL

RRRKKS

02070
KRELL
*&?
KRR
2R

XRRRKS

o2
%
(K
- Q‘.
2L

t
PP
1099,9.1 J0%%¢
RGRRS
SE
e st
SRR
e 55
oSe% i%e%
oSeraatetel
RL AR

00 L2058
R,

o%
3‘
%
096%%%
2L
<
e

o
bo%
305
potete!
09%8S
$oo%
;0
35S
SRS
SIX
et
SRR
IS
2RI
oooq?

ot

o0 % % %%
KKK
Y YL

L
(RIS
930%% Tes
oS0as 2%
95807 2088

000 TOeS

a
o8 098
QIR
3R

%!
o3
092
25
%
%o%s
&

o
100

%

5%
2

RIS
S tetotetetetotetete!
SoSotetetetotete
SRR RN,
IR

?}
00038

098
KRS
0t

KK

050%% % %%
oo 0¢?
SRRIRRIKS
IR
SRRRRIALLLS

0!

!
Sotototes

XK

0009 %
50567 Toses
o e
K a2
SRS
MR
et
o0 ~ 0
SIS,
Sy 5
SIS

C%
X%

0%
R
RS
%

(XX
s
R
e totetete!
S tototetete!
RRRIRRRR

:0€§
SRR
otootele!
XX KK
IR

S
29088
0083
o%e%

o
K
o

9%
R

oS
5
Qf

v

0%
L
X

.
B
<
5

o
L

ol
99
$o%e%0%

o X
6% % o9 %
XXX X

O %4 1202

e

990
S
<
2,
%
RO

o
XX
25

XXX
SRIIK
LAY
THI
LI
K

%%

I
33
.A

OO
0020
P
o
;
o%!

X
X
<

000
255

B
O o%t
]
i
bkl

X X

bosels;
RRKS

5

OO
ddotetedotele!
ST
SNEC
<8
b3 o

X

3

<

N
Sosesesstotelets
é””&&zi@,
9.9 0300
RRRRLRLS

O
L

LRI
Botatotototototorotoress
]
OIERIIKK

53
%5

2
ZRLIRRRRIRLIRLRLRR

< RREIIKELEIKKLL

potetetetele!
b9ess

2
X
o208

38K
25
5%
KKK

%%

%
QL
(558
XKKHKHKHKKX

(>
R
2008
bt
ool
000
bt

-

XX
XX

k<
%

8

%
R

%
<o

28

O
b
®

3
S
RS

KRRRRKL
IS

(Total for Question 5 is 5 marks)
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6 Andrew is training to run in the New York Marathon.
The New York Marathon is 26.2 miles long.

The qualifying times to run in the New York Marathon are shown in the table below.

Age (years) Time (hours : mins)
18 -34 2:53
35-39 2:55
40 -44 2:58
45 -49 3:05
50-54 3:14
55-59 3:23
60 - 64 3:34
65 - 69 3:45
70-74 4:10
75-79 4:30

80 + 4:55

Andrew is 51 years old.
His current average running speed is 8 miles per hour.

New York Marathon.

Andrew thinks he will need to run at a faster speed to be able to qualify for the
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Is Andrew correct?

Show why you think this.

(3)

(Total for Question 6 is 3 marks)
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7 Hereis a sketch of a square based pyramid and one of the triangular faces.

3.2cm
2.5¢cm

4cm

4cm

A
v

4cm

(a) Draw an accurate net of this pyramid on the centimetre grid below.

The base of a tin of paint is placed on the floor.
The tin of paint is in the shape of a cylinder.

(b) Draw a sketch of the plan view of the tin of paint.

(Total for Question 7 is 4 marks)
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8 Dave needs to make 3500 Ibs of concrete mix using cement, sand and gravel.
He will mix cement, sand and gravel in the ratio 1:2: 5 by weight.

Cement, sand and gravel are sold in kilograms.

Dave uses this graph to convert between Ib and kg. :
A &
25
20 |
P
Weight 1 mp
ko) 4o
"
5
>
0 >
0 5 10 15 20 25 30 35 40
Weight (Ib)
( )
(@) Work out the weight, in kilograms, of cement, of sand and of gravel that
Dave needs to buy.
You must show your working.
(5)
N J
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(b) Show a check of your ratio calculation.

(1)

(Total for Question 8 is 6 marks)
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9 Hereis a centimetre grid.

-
(@) Write down the coordinates of point B.

\

D is a point on the grid.
The trapezium ABCD has

« exactly 2 right angles
« one side of length 9cm.

(b) Plot a possible position for point D on the grid.
(2)

(Total for Question 9 is 3 marks)
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10 Here is a cone.
_1_2
V= ST h
Vis the volume
ris the radius of the base of the cone
h is the vertical height
12.8cm
8cm
4 N\
Work out the volume of this cone.
Remember to state the units.
(3)
\§ J
(Total for Question 10 is 3 marks)
\_ _J
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11 Darius restores old furniture.
He has 12 chairs and 3 tables to restore. SIS IRZEK

Darius writes a list of the costs to restore all of the chairs and all the tables.

Yo

5

Costs

5

5

tables and chairs free
7 tins of wood oil £12.50 each

%

. DONOTWRITEINTHISAREA

10.5 metres fabric £6.90 per metre

Y34V SIHL NI 3LI4M LON 0d

&

foam cushions £82.50 &

7 5

&

Darius sells each table for £127 and each chair for £32 5
( . . . . ) KK %
Work out the percentage profit Darius makes after selling all the chairs and all £
the tables. 5555
Give your answer correct to 1 decimal place. s

(5)
\ J
.
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(Total for Question 11 is 5 marks)
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12 Jasmine is doing a survey about learning to drive.

The table shows information about the number of driving lessons 60 people had
before passing their driving test.

Number of driving lessons Frequency
1to 15 6
16 to 30 18
31to45 25
46 to 60 11

Jasmine estimates that the mean number of driving lessons these people had before
passing their driving test is more than 35 lessons.

4 )
(@) Is this estimate of the mean correct?

Show why you think this.
(3)

16
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(b) Use a reverse calculation to show a check of your answer.

X

\

(1)

One of these 60 people is chosen at random.

-
(c) What is the probability that this person had more than 30 lessons
before passing their driving test?
Give your answer as a decimal.
(2)
\_

(Total for Question 12 is 6 marks)

TOTAL FOR SECTION B IS 48 MARKS
TOTAL FOR PAPER IS 64 MARKS
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